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1.

All questions are compulsory.
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This question paper consists of 30 questions divided into four Sections.
A, B, C and D. Section A contains 10 questions of 1 mark each, Section
B contairis 5 questions of 2 marks each, Section € contains 10 questions
of 3 marks each and Section D contains 5 questions of 6 marks each.

3. {9 F I A Fad ’E ) _

Only sketches are to be given in the answers of construction.

4. Wl % 3 ye & O &Ky Mo e & e | @ S
Answers of the questions must be in the context of the instructions given
therein.

5. it T W v W I qRae & of 1 R e gt w & S, s w@ D
Do all rough work only on the last pages of the Question-cum-Answer
Booklet and nowhere else. '
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SECTION - A
{ Question Nos. 1 to 10 carry 1 mark each )
1=l 1. 120 % anvirm uAETE F rEwe & w9 § fafeg)
Q. | 1. Write 120 as a product of its prime factors.

I
Ans.
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Q. [ 2. The graph of y = p ( x) for a'polynomial p ( x) is given in the figure
below. Write the number of zeros of the polynomial p ( x) from the

graph.
y -
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Ans.
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C cquation or not.

3 o ST 1B x(2x +3) = x° +1 TF &

. . t‘
3 Check whether x(2x+3)=x2 +1 is a quadrati

4] %

4. w frfeg . Sinl8s

cos72°

4. Evaluat :_sin_1_8°_.
¢ cos72°

Ed ° %
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MWP-(xlé;my=p(x}Wmﬂﬁ
| R p (x) P YHH H 6E fothgn

20032 (10)

SRl # fea &)

4 of 4a



AC

TR S 3, 1, -1, =3,... % [ gl 3 e

0| S.

Q. | 5. Write the common difference of A.P. 3,1,-1,-3,...
54

Ans.

W | 6. r (AT AT F F STRSA (@ |

Q. |-6. Write the area of a circle of radius r.
I
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7. Are all triangles similar — equilateral or isosceles ?

JAC
A

Q.
E5:[4
Ans.

8. T H A frga W AT H Al Y@ A 7wy E

8. What is called a line intersecting a circle in two points ?

F4°§
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Ans,

LLE)
Q. | 9. What will be the addition of the probability of incident ‘E’ and
incident ‘E not’ ?
Iav
Ans.
uv | 10, T AU UE YA aRERdl & S @ T Ao Rl T hed © 2
Q. | 10. What do we call the graph which has becn drawn between class
interval and cumulative frequency ?
3dT
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SECTION - B

( Question Nos. 11 to 15 carry 2 marks each )
wv| 11. 96 3T 404 T WY PHETS fafy gRT HCF 1 il |
Q. | 11. Find the HCF of 96 and 404 by the prime factorisation method.
IW
Ans.
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W 12.ﬁmﬁa§a§u¢maﬁﬁﬂﬁﬁsﬁﬁwmmmm:
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Q. | 12. Find a quadratiq polynomial, the sum and prbduct of whose zeroes -
are 1 and 1 respectively.
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we| 13, ABC U Wk figw & FTE AC - BC ¥1 A% 4B

fag FIT fF ABC ©h awHIvl firg €

prove that ABCis a right triangle.

- 24C %%, @ >

2 2
Q. | 13. ABC is an isosceles triangle with AC = BC. If AB =.2AC 7, then

—

Ans.
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14. A% cota =2 Al sina FAF 7 Hf)

14. If cotA= -5

15’ then find the value of sinA.

IR
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gt § 1

circle are equal.

v | 15, g 1T T ol fag @ 90 W @i 13 n i "

Q- | 15. Prove that the Iengths of tangents drawn from an external point to g

ey,

Ans.
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SECTION -C b
( Question Nos. 16 to 25 carry 3 marks eac )

TET| 16, qecTS TS TIReR 1 WA #3% 135 3 225 F HCFWﬂﬁﬁql
Fwar .
fag FifsT i 6+ 2 U ST €& &

Q. 16. Find the HCF of 135 and 225 using Euclid's division algorithm.
' OR

Prove that 6 + JE is irrational.

Ans.

YO o _ .
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Ans.
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18. WPg @Yy g £ i ¢

18,

2x-y=2, 4x-y=4

(szlmmmﬂmwmﬁfm)

Solve graphically :
2x-:y=2, 4x—y=4

Ans,

( Use the graph paper given on Page No. 21 )
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19. AP. 7,13, 19, .. 205 R (a1 45 & ?

g
. Hdr
TH AP & a=7 3R a, =35 a1 d R s, T i
Q. | 19. Find the number of terms in A.P. 7, 13, 19, ..., 205.
' OR
Inan A.P., a=7 and a,; = 35 are given. Find d and S, -
I
Ans.
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Wy | 20. fag HiT

: JI—QE—A =secA+tanA
1-sinA ;

Q. | 20. Prove that

M =secA+tanA
dl—smA _

Ans.
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21. [9G3H A(-5,7) AR B(-1,3) % ara 1 g0 A BT

RG]

21. Find the distance between the points A (- 5, 7 ) and B ( —1,._3. ).

—
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v 22. w%:g%ﬁawmaﬁﬁqﬁﬁrgaﬁm -3]3T1T(8 5 ) & sireA
el TEREUS FI AAE w9 § 3 1% U H fowiag T 21

. Fear
k 1 A TE Wity atfer Frey diat fagg @ &
(8,1),(k,—4),(2,-5). -
Q. | 22. Find the coordinates of the point which divides the line segmenl_
joining the points (4, -3 ) and ( 8, S ) in the ratio 3 : 1 internally.

OR

Find the value of k for which the following points are collinear :
(8,1),(k,—4),(2,-5). '

Ans.
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BC /@™ BC = 6 cm, AB = 5 cm - N
W[ 23] E}TSWWQ;WTW : HWWABCEF'TWW&H

#t 2 T &

arerar , ‘
4 cm B & @ 99 W 6 om frw & o GEE g9 & [l 47
T W @ F T PR

Q. | 23. Draw a triangle ABC with side BC = .
1 — oft
- £ZABC = 60°. Then construct a triangle whose sides are i e

6 cm, AB ='5S cm and

corresponding sides of the triangle ABC.
OR nt on the
Construct a tangent to a circle of radius 4 cm from a poi

-

Ans.

concentric circle of radius 6 cm. —_—
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STt &1 3! T o1 & f 7R (a) AT @ 2 (b) A B 2 (o) oA
Tl @l ? - |

Q. | 24. A bag contains 3 red balls and 5 black balls. A ball is drawn at

random from the bag. What is the probability that the ball drawn'is

(a) red ? (b) black ? (c) not red ? _

-

)
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. ) AHgar
aql?ﬁihf‘mﬁmaﬂ@mma%ﬁquﬁéﬁomﬁﬁﬁﬂq
ERl ﬁﬁmm: 7 cm 3R 14¢m§'HﬂTAAOC=40°%|

Q. | 25 Find the area of a quadrant of a circle whose circumference is
22 cm.
OR

Find the area of the shaded region in figure, if radii of the two
concentric circles with centre O are 7 cm and 14 cm respectively
and ZAOC = 40°,

IT

Ans.

- 8OV
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' SECTION - D

( Qugstion Nos. 26 to 30 carry 6 marks each )

Ans,

5 | 26 ﬁmm‘" 2x? =23 41 = 0 1 T, TE B THET T TG
A 3T O 719 Fiferw
. T
S99 Hﬁ"“ﬁmwwaﬂimﬁsaﬁwm%%ﬁ“
1 3 .
mﬁngﬁlwﬁwmmﬁml o
Q. | 26. Find out the discriminant, nature of roots and roots, using binomial .
formula of the quadratic cquation 2x? -2J2x+1=0.
OR
The sum of the reciprocals of Muskan's ages, 3 years ago and
5 years from now is -:]; Find her present age.
| '
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27. U&h “ﬁq\_

27.

AT € Aty 'ww?ﬁmﬂ%wm%ﬁw‘maﬁﬁa@a
| Hifong | qq-mgwﬁmﬁamso“ﬁm%lﬁﬁﬂ.ﬁgm

Hyar
% 8O m ! W & ai i sy @A od A 4 @
ﬂg'ﬁm@ﬁ%aﬁam%@ﬁqﬁ@ﬁﬁw?ﬁw
T ET‘WT-' 60° 3R 30° &1 Wi o FHar i @i | fag T T
The shadow of a tower standing on a level ground is found to be
40 m longer when the sun's altitude is 30° than when it is 60°. Find
the height of the tower,

OR

Two poles of equal heights are standing opposite, each other on
either side of the road, which is 80 m wide. From a point between
them on the road, the angles of clevation of the top of the poles are
60° and 30° respectively. Find the height of the poles and the
distances of the point from the poles.

Ans,
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28. Prove that in a right tr
to the sum of the squa

is equal
iangle, the square of the hypotenuse
res of the other two sides.

1R




[ 29, T 7 cm 95 v ———
cm -
=0l aﬁmm? TIFHR A o S T AT @l Al € | 3T
o 1B WAl ¥ ) 3w yER 9 Si9 & g 8% A
Waﬂ%ﬁ45cm%ﬁ%,$ﬁﬁﬂﬁﬁﬂﬁ28cmw 7 cm €)
) SHPT AT 17 iy | |
Q 9. A cubical block of side 7 cm is surmounted by a hemisphere. What
1s the greatest diameter the hemisphere can have ? Find the surface
~ area of the solid.
.. OR .
The radii of the ends of a frustum of a cone 45 cm high are 28 cm and
) 7 em. Find its volume, ' '
I
Ans.
]_ a .
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Ans.

o | 30. P17 3iienel § W i e
T T [ 10-25 | 25-40 | 40-55 | 55-70 | 70 - 85 | 85 - 100
THERAT 2 3 7 6 6 6
reraT
= sitel @ s 79 ST ‘
Tt er’iel | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | S0-60
AR 5 8 20 15 7 5
Q. | 30. Find the mean of the following data :
Class _
] _ ] - 70 - 85 | 85- 100
interenl | 10-25 | 25-40 | 40-55 | 55-70
Frequency 2 3 7 6 6 6
_ OR
Find the median of the following data :
Class 1610 | 1020 | 20-30 | 30-40 | 40-50.| 50-60
interval
Frequency 5 8 20 15 7 5
IV




